A LITTLE GENETICS PRACTICE IV

OK, here’s the genes to work with:

· F = flat feet; f = normal feet

· G = greasy ear hair; g = non-greasy ear hair

· L = light-skinned; D = dark-skinned

· XB = birthin’ hips; Xb = small hips

General questions

1. Identify each of these as either a genotype or phenotype (circle either G or P):

a. Ff



G
P

b. Dark-skinned


G
P

c. Flat feet


G
P

d. XbY



G
P

e. Small hips


G
P

2. How many different alphabet letters do we normally use to show different genes of a single trait?

3. When would we use two different capitol letters for different genes of a single trait?

4. If two heterozygous greasy ear haired people have kids, what is the percent chance that their child will have non-greasy ear hair?

For each, make a Punnet square.  Write the genotypic ratio and phenotypic ratio for each as well:

5. Gg x gg  (regular)

6. ff x FF  (regular)

7. LD x LD  (codominance)

8. Homozygous dominant greasy ear hair x heterozygous greasy ear hair.  (regular)

9. Homozygous recessive normal feet x hybrid flat feet.  (regular)

10. A dark-skinned person and a medium-skinned person.  (codominance)

11. XBY x XBXb   (sex-linked)

12. Cross a dude with small hips with a purebred birthin’-hipped chick.  (sex-linked)

13. GgFf x ggFf  (multiple alleles)

14. Cross a non-greasy ear-haired, medium-skinned person with a heterozygous greasy ear-haired, light-skinned person.  (oooh, multiple traits and codominance.  That’s kinda evil! 

